Leuze
FARBIER

=N WP S
B4 5 50128175
IS 212FM/4NO.5-3E0-S12

E

- BRSH
- Ry B4
- BRER
- BR

- BENER
- FmE
- e

- E2ER
- Ef

Em
Sl

i

ﬁ

djo
e
H

LISTED

i)
(€ @ =~
P67/

BA TR - |

IP 69K /|

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBYE : +49 7021 573-0 - 44 & : +49 7021 573-199  chi + 2025-03-27 17



BRI « B F4R5: 50128175 « IS 212FM/4NO.5-3E0-S12

BRSH

ERiiE

%5l
BRI NBERE S,
NS,

=it
FITRI
B HR
R B

M RERIR
HEBBE Uy
FIRBRYE
FrEE R
BER® , &A
BEERE  &X
FFRERE

i
BFTFRERH H

FFREMHH
BERE
BRAFFRBIR
RARRBR
BER

FREBHHA
F T

FxEE

)52

e ES

HERY

HEE

BEOKE
TR
IhEE
el
IR
el
E
BB

The Sensor People

(S, MESL)
(S, MESL)

212
3 mm
0..24mm

e ES

RIRHERE
BRI RHP
BREY

10...30V, DC
0...20 %, 3RE U,

0...10 mA

10 %, BEENTHERETHE

5 %, Ug =20.

.30 VDC i , FMRRE

T,=23°C+5°C

15 %

14

DC
200 mA
0.1 mA
<2V

RAE, PNP

NO (BT AtR)

100 Hz
25 ms

14

e EIR
EE@n
Bk
M12
&k
TN
4 15|
AR5

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

WS

&1

R~ (@ xL)
RS
RERA
AFEHH
THEMNR
BB AR
AE
AZRHE
ZERR

PRERAR

BREMETR

BREH
LEDZ

BB
HRERE , T
TAE

B SR

IAIE
& BT EE LHMEMCIRTE 7

BIFIbR

BERH

8

THN

Lo

&4

W Fe360

T Fe360 3=t
RATHEHZEYS
LR LS
AT TENREMF
%

BR S
ECLASS 5.1.4
ECLASS 8.0
ECLASS 9.0
ECLASS 10.0
ECLASS 11.0
ECLASS 12.0
ECLASS 13.0
ECLASS 14.0
ECLASS 15.0
ETIM 5.0

ETIM 6.0
ETIM7.0

ETIM 8.0

ETIM 9.0

ETIM 10.0

info@leuze.com « www.leuze.com

Leuze

B

12 mm x 60 mm
M12 x 1 mm

7FF

TN

V2A

TEM, AISI 303
25¢

iR

RIRIBL

B AERERE
12x 12 mm? , Fe360

LED
14

-25..70°C

IP 68

IP 69K
cULUS

IEC 60255-5
IEC 61000-4-2
IEC 61000-4-3
IEC 61000-4-4
IEC 60947-5-2

0.6
0.9
1.4

0.9
0.8
0.8
0.9

85365019
27270101
27270101
27270101
27270101
27270101
27274001
27274001
27274001
27274001
EC002714
EC002714
EC002714
EC002714
EC002714
EC002714

REBAREEHRF

BBif : +49 7021 573-0 « 4 : +49 7021 573-199  chi » 2025-03-27

2/7



BRI « B F4R5: 50128175 « IS 212FM/4NO.5-3E0-S12
R~ B4

PRAERY 2GR EXR

MI2x1 A A BHESE

B H#EELED
(o]
E <
o
(e}
|
M12x1
=

BB ER

1

Ihee HeE R

et

B3l i 20
RAHE M12
Bl sk
pIES TN
5| i E 4 NBIRD
Pt AR5
51 5| H0 % B

1 V+

2 n.c.

3 GND

4 OUT 1

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

The Sensor People

Leuze

info@leuze.com « www.leuze.com REBFEAREEHA
3% : +49 7021 573-0 « t£E : +49 7021 573-199  chi » 2025-03-27 317



BRI « B F4R5: 50128175 « IS 212FM/4NO.5-3E0-S12

Eipap

RE | FPRE

S, [mm] 3
'w D1 [mm] O
>3S, — D2 [mm] 13
d D2, d, D3 D3 [mm] 4
o
T ! !
| |
=
éz ----- %'c o/H-—-—- 7&
> 3S,
S, FIRE = 3.0 mm
Sp A [mm] a BEXFx
5 b #RHEER
4

mm] 10 8 6 4 2 0 2 4 6 8 10

oNn @
— ©
BREMER
LED &5
1 #E5E , N5
#6 KX
FmEEER

FmEM : ISXYYY ZZ/AAA.BB-CCC-DDD-DDD

ISX ThRERE / Rt
IS - BRI X |, FrHRIT
ISS : BRXIFX , |ikit

Leuze electronic GmbH + Co. KG

The Sensor People In der Braike 1, 73277 Owen

Leuze

48

FIhReTAE
FF R B /T RRS

info@leuze.com « www.leuze.com
BBi% : +49 7021 573-0 « £ H : +49 7021 573-199

REBEAREEHRA
chi + 2025-03-27

417



BRI « B F4R5: 50128175 « IS 212FM/4NO.5-3E0-S12

7= B R Leuze

YYY ER ]
203 : @ 3 mm %%
204 : @ 4 mm %5
205 : i M5 x 0.5 FMELXHI=Z AR5
206 : @ 6.5 mm R%|
208 : i M8 x 1 JMELH = RER5
212 : 1 M12 x 1 SRS ™= R R 5
218 : i M18 x 1 JNRGH ™= B ER 5
230 : i M30 x 1.5 SMELH = B R 51
240: FRAZIT RS
244: FRAZIT RS
255 : 5 x 5 mm? BEARI
288 : 8 x 8 mm? BETNR I

7z S5 /IR
MM : £BAE (BRI : 2B ) / AFIIRK
FM : 28BS (BREXI : TEHM AISI 316L ) / AR
MP : €BAFE (BRXE : BH )/ AHIIRLK
2 FTRRAR
AAA R/ BR
4NO : PNP & E , EFF R (NO)
4ANC : PNP @&4%& , ®Afd (NC)
2NO : NPN 2&#4%& , A= (NO)
2NC : NPN &% & , EMfER (NC)
1NO : 4keBgs | EF = (NO) /AC/DC
1INC : 4kE28 | EHA2R (NC)/ AC/DC
44 : 2 PNP aaﬁsmﬂ*mﬂjﬂiﬁ R (NO +NC)
22 : 2 NPN B&EFF R , K% (NO+NC)
L : 10-Link 0
X : 5|HIKA

BB BHRES
BUH : TR HRESE
5F : B@mAIE
5 : S\FE L V2A (1.4305, AISI 303)

CCE NETE / REHRX
1EO : RN ESBEERE 1.0mm / FERE
1E5 : RN ESBEERE 1.5mm / FERE
2E0 : IRFRMESTERE 2.0mm / FTERE
3EO0 : MPRNESTERE 3.0mm / FFERE
4E0 : IRFRNESTERE 4.0mm / FTERE
5E0 : RN ESTERE 5.0mm / FFERE
6E0 : IRFRMEBSTERE 6.0mm / TERE
8EO0 : IRFRMEBSTERE 8.0mm / FTERE
10E : PR ESBE R 10.0mm / FERE
12E : R ESBEERA 12.0mm / FERE
15E : PR ESBEERA 15.0mm / FERE
20E : RN ESTE R 20.0mm / FTERE
22F : PR ESTEZERE 22.0mm / FFELRE
2N5 : RN ESBEEE 2.5mm / IEFFRE
4NO : RN EBEEE 4.0mm / IEFFERE
8NO : RN ESBEEE 8.0mm / IEFFRE
10N : PR ESBEERE 10.0mm / EFFRE
12N : PR ESEEERE 12.0mm / EFFRE
14N : WPRNESBERRE 14.0mm / EFFRE
15N : WPRMESEEERE 15.0mm / IEFFRE
20N : RN ESBEEE 20.0mm / IFEFFRE
22N : RN ESBE LA 22.0mm / IFEFFRE
25N : RN ESBE LR 25.0mm / EFFRE
40N : RN ESBEERE 40.0mm / EFFRE

DDD BAE
HUH : B4, FREKE 2000 mm
S12: M12 BSR4 5, BEF
200-S12 : B4, K 200 mm , % M12 BiERERS , 4 &, BEF
200-S8.3 : 45 , K& 200 mm , # M8 EERESE , 34, BF
S8.3: M8 EiE#Ess , 3 4, B
005-S8.3 : B4f | K 500 mm , T M8 EERESR 34 B
050 : B84 , ¥REKE 5000mm , 3 &

7

]

& PR AR R RBIIRBEERS S MM www.leuze.com,

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 45 E 1 +49 7021 573-199  chi + 2025-03-27 5/7



BRI « B F4R5: 50128175 « IS 212FM/4NO.5-3E0-S12

. Leuze

BFREHEAME !

Y AFEmAEReLRE  RERTARRY,
© REERT A SFAFRBRAIET.
& FEURTE W AR A A Mo

HXULMA :

S NTULRA , HRNEC(REERBSMAR)ERIAAFE2RBEHNEA.

% These proximity switches shall be used with UL Listed Cable assemblies rated 30V, 0.5A min, in the field installation, or equivalent (categories: CYJV/
CYJV7 or PVVA/PVVAT7)

EZER

BofF
BERERA - B

Btrmes =L B+ WiE

S

50130654 KD U-M12-4A-P1- e R Sk, M12, BEFY, R, A-4RTEB, 4 NEIRD
020 Bz, LED: &
HERE2: FF O
AR B
BYKE: 2,000 mm
PEME: PUR

50130657 KD U-M12-4A-P1- FEEEY R L, M12, BT, fREE, A-4RED, 4 NEIRD
050 Bz, LED: &
HERE2: FF Oi%
BR% &
BYKE: 5,000 mm
FEMEL: PUR

@ —aIllE

50130652 KD U-M12-4A-V1- EF B R L, M12, B, R, A-4RES, 4 NSl
050 E4Ek, LED: &
2 FF O
BRER &
BYKE: 5,000 mm
FEME: PVC

—(qT1[[S

Leuze electronic GmbH + Co. KG

info@leuze.com « www.leuze.com REBFEAREEHA
In der Braike 1, 73277 Owen

The Sensor People EBiE : +49 7021 573-0 45 E 1 +49 7021 573-199  chi + 2025-03-27

6/7



BRI « B F4R5: 50128175 « IS 212FM/4NO.5-3E0-S12

B Leuze

RERE - HAtb

B trms =L [ Wi
50111499 MC 012K *x& A£E: 12 mm

BERIZZRIRI REX
BEMNEES BILRE
RKEMEEH: AIRE
RBHRIZZRA: NI

Y PR A AE S RE LT SN MEEAEMAESTEN TRETF.

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 45 E 1 +49 7021 573-199  chi + 2025-03-27 77



